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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-3 0
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P3-3

BriE) | GEBAK @) | ERE(EH/AR | EREE (F/R) [ XS e

07:40 273 150.0 25. 83 FH| FnHR@O7:40 KRENIZF (FREAERSE)
08:15 273 150.0 25. 83 FR| FHA@O08:15 KRENFZF (ARFIEES)
08:50 273 150.0 25. 83 FR| FHA@08:50 KRENFZF (KRFAIREES)
09:25 273 150. 0 25. 83 FA| FnHR@09:25 KRENFZ/F (FRHFIEREISE
10:00 273 150.0 25. 83 FA| FHA@10:00 KREVFEF (ARFAERHS)
10:40 273 150.0 25. 83 FR| FHA@10:40 KREFZF (KRAERES)
11:15 273 150.0 25. 83 FA| FnHR@11:15 KREEF (KAERKSE)
11:50 273 150.0 25. 83 FA| FnHA@11:50 KRFFEF (RAERKSE)
12:25 273 150.0 25. 83 FR| FhHA@12:25 KREFZF (RFAEES)
13:00 273 150.0 25. 83 M|  FnHR@13:00 RFFEF (KAERKE)
13:35 273 150. 0 25. 83 f| FiHR@13:35 RHMIEHF (RALER)
14:10 273 150. 0 25. 83 /1| fiHfe14:10 REEF (REERES)
14:45 273 150.0 25. 83 M| FiHRe14:45 KREEF (KAFEHE)
15:25 273 150. 0 25. 83 M| FiEAe15:25 KREFZF (GRFAEREE)
16:10 273 150. 0 25. 83 FI| Tiffe16:10 REERF CRAMEES)
17:05 273 150.0 25. 83 BH| FhHA@17:05 KENF2F (RAEREE)
2t 4368.0 (16)%) 2400. 0 3 WHKEC: 2080.0, PH: 6.0

#H[EKRECE (2087.0 vs 4547.0) 35




FRV (ml plant-1)
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P3-3_0, Day=63 (2025-05-31)
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P3-3

BYE) | VEBRK @) | Elis(EH/4K) | EREE G/ R [XR R

06:35 278 150. 0 25. 83 FH| 1Ri%@06:35 Bzl (KRS
07:20 278 150.0 25. 83 FH| 1Ri&@07:20 B (RS
08:05 278 150.0 25. 83 FA| 1BRi%@08:05 B3zh (FKA{EREE)
08:55 278 150. 0 25. 83 FH| 1RRi%@08:55 Bzl (FRFAERESE)
10:05 278 150.0 25. 83 FE| 1RRi&@10:05 B (RS
10:55 278 150.0 25. 83 FA| 1BRi%@10:55 B3h (KRAERSE)
11:35 278 150.0 25. 83 FA| {Ri%@11:35 Bz CGRAERESE)
12:15 278 150.0 25. 83 FE| 1Ri&e12:15 B (REAERSE)
12:55 278 150.0 25. 83 FA| 1Ri%e12:55 B (KAHERESE)
13:35 278 150.0 25.83 BH| 1{Ri%@13:35 B (GRAEREE)
14:35 278 150.0 25. 83 FE| 1Ri&@14:35 B (REAERSE)
15:40 278 150.0 25. 83 FA| {Ri%@15:40 Bz (GRAEEE)
17:00 278 150.0 25. 83 FA| {Ri%@17:00 Bz (GRAERE)
23t]3614.0 (13)% 1950. 0 3Z U KEC: 2080.0, PH: 6.0

FHERECE (2220.0 vs 4663.0) 35
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P3-3

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

06:55 273 150.0 25. 83 F  BRi%e06:55 BE1 (RAERESE)
07:30 273 150.0 25. 83 S| {Rig@07:30 B (RAERSE)
08:05 273 150. 0 25. 83 E  1BRi%e08:05 BE1 (RAERRE)
09:10 273 150.0 25.83 (Z=| {Ri&@09:10 Bz (FRAMERSE)
10:00 273 150.0 25.83 (£ =| 1Ri%@10:00 Bz (RAEAERSE)
10:40 273 150. 0 25.83 |Z=| 1Ri&e10:40 Bz (GRAEREE)
11:15 273 150.0 25.83 |Z=| {Ri&e11:15 Bz GGREAERSE)
11:55 273 150.0 25.83 (£ =| 1Rige11:55 Bz (REAERSE)
12:30 273 150.0 25.83 (Z=| {Ri%e12:30 B3 (REAEHSE)
13:05 273 150.0 25. 83 5| {Ri%e13:05 B3 (RAERSE)
13:40 273 150.0 25. 83 = RRiB013:40 B (RFAKESE)
14:20 273 150. 0 25. 83 E BRige14:20 Bz CGRAEREE)
15:05 273 150. 0 25. 83 El 1BRi&e15:05 Bz CGRAEREE)
15:50 273 150.0 25. 83 =l RRiB015:50 B (RFAEESE)
16:50 273 150.0 25.83 (Z=| {Ri%@16:50 Bz (KRAEHSE)
21t] 4095.0 (15)%) 2250. 0 3203 %EC: 2080.0, PH: 6.0

#H[EKRECE (2323.0 vs 4680.0) i d 5



FRV (ml plant-1)

ET (ml/hr/plant)

P3-3_0, Day=61 (2025-05-29)

L e e o T e TR e e p L 3000
VI, VPSRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2640
2300 2300 295

100 - 739 903 2000

50 - 1000

Warning: lcol [FVI',| "FVO’'] missing

2001 Vi —_ ME H¥30

o e
IR RARRRANENN
50‘ l

1.0

M_E

Warning: lcol ["WC1',  "WC2'] missing

TargetEC=2600. 0,  TargetSetEC=2080. 0

Warning: lcol ['ECB’,| 'ECC’'] missing

TargetPH=6. 5, TargetSetPH=6.0

Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 : - 4000
Bylnit @63 05:00: ETF2135 Fg=2700.0 Ro=533.0 t

ET (ml/hr/plant)

ET (ml/hr/plant)

400 + - 3000
- 2000
200 ~
- 1000
p— S =] ©
0 —p P - 2000
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES E3 E3 ES ES
5 5 5 i 5 5 5 i 5 5 G A B 5 G A B 5 G A B 5 G A
400 1 T - 3000
ByEt @D61 19:09: ET=2095 Fg=2295. 0 Ro=nan 1
- 2000
200 ~
- 1000
o o —o—0 00—
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
400 5 5 5 i 5 5 | K& i | B |2=|Za|Z25|255] B i 5 | %= [A FH [H [H GHEES
T ] - 3000
ByWoFv @D63 05:00: ETF1905 Fg=2250.0 Ro=415.0
: - 2000
200 ~ :
1 - 1000
1
o 00— 00—
1 . 0 i SSS——— = === 0

ool BB | B | % | & | % | % | % | % (2222122122 B | % | % 22 W (W | W WM %F (2=

0.6
0.4+

0.2~

1808 3

—_—
[ ] | _obs
1000 ~ —8— PPFD_obs

500 A

RH
401 @ RH obs
RHo _obs

VPD P

FRV (ml d-1)

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



m=4350, FV0=0 m=490, FV0=0 m=525, FV0=0

16.5

—o— ME —o— ME 1587 o wmE
16. 0 14.6 - 15.4 4
15.7 -
15.5 -
14. 4 - 15. 2 -
15.6 -
15.0 -
145 14.2 15.0 - 15.5
14.0 7 14.0 - 14.8 - 15. 4
T T T T T T T T T T T T
600 800 1000 450 455 460 490 495 500 525 530 535
m=560,m FV0=0 m=610,m FV0=0 m=650,m FV0=0 m=685,m FV0=0
15. 90 16.001 o yE 16.17 o mE 16.3 - o INE
15. 85 - 15. 95 -
16. 0 - 16. 2 -
15. 80 15. 90
15. 75 - 15. 85 - 15.9 16.1
15.70 15. 80
15. 8 - 16.0 -
15. 65 15.75
15. 60 - = ME |} 4590 15.7 15.9
T T T T T T T T T T T T
560 565 570 610 615 620 650 655 660 685 690 695
m=725,m FV0=0 m=765,m FV0=0 m=805,m FV0=0 m=840,m FV0=0
16.37 o M 1637 o M 16.37 o M 1647 o uE
16. 2 - 16. 3 -
16. 2 - 16. 2 -
16.1 16. 2
16.1 16.1
16. 0 - 16.1 -
16.0 - 16.0 -
15.9 16.0 -
15.9 - 15.9 - 15. 8 - 15.9 -
725 730 735 765 770 775 805 810 815 840 845 850
m=885,m FV0=0 m=925,m FV0=0 m=965,m FV0=0 m=1010m FVO=0
16.31 o M 1647 o wE 16. 4 o— wE | 1640 — INE
16.2 16. 35
16. 3 - 16. 3 -
16. 30
16.1
16. 2 - 16. 2 - 16. 25
16.0 -
16. 20
1 16.1 16.1
5.9 - 16. 15 -
15. 8 - 16. 0 - 16. 0 - 16.10
885 890 895 925 930 935 965 970 975 1010 1015 1020
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T T T
600 800 1000

m=560,m FV0=0
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885 890 895

23.

23.

22.

22.
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3] 23.0 -
450 455 460 490 495 500
m=610,m FV0=0 m=650,m FV0=0
5 - —— MW —o— MW
25.0 -
0 .
5 . 24 5 N
0 - 24.0 -
5 .
610 615 620 650 655 660
m=765,m FV0=0 m=805,m FV0=0
0 926.0
—— MW —o— MW
;| 95. 5 -
0 25.0 -
;] 24.5 -
o 24.0 -
765 770 775 805 810 815
m=925,m FV0=0 m=965,m FV0=0
. —— MW —o— MW
i 26. 5 -
5 -
26. 0 -
0 .
95.5 -
5 .
25.0 -
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26.
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24.
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26.

25.

m=525, FV0=0
—— MW
5 .
0 .
5 .
555 550 555
m=685,m FV0=0
0 - —— MW
5 .
0 .
5 .
6é5 660 6§5
m=840,m FV0=0
01 —— MW
5 .
0 .
5 .
0 .
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m=1010m FVO0=0
01 —o— MW
5 .
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5 .
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P3-3

BriE) | GEBAK @) | ERE(EH/R | EREE (F/R) [ XS SRR

07:00 278 150. 0 25. 83 = {RRi%007:00 Bah (RAEESE)
07:35 278 150.0 25. 83 = {RRiB007:35 B (RFAEEE)
08:10 278 150. 0 25. 83 E BRi&e08:10 Bzl (RAERE)
09:05 278 150.0 25. 83 5| {Ri%@09:05 Bz (FRAMERSE)
09:55 278 150.0 25. 83 = {RRiB009:55 B (RFAEEE)
10:35 278 150.0 25. 83 = {RRiB010:35 Bz (REAEEE)
11:10 278 150.0 25. 83 =l Rig011:10 B3 (GRAEESE)
11:45 278 150.0 25. 83 =l {Rige11:45 B3 (RAERSE)
12:15 278 150.0 25. 83 =l RRiBe12:15 Bz (REAKESE)
12:45 278 150. 0 25. 83 E| {Rig012:45 Bzh (GRE{ERSE)
13:15 278 150.0 25. 83 F BRige13:15 Bz CGRAERESE)
13:50 278 150.0 25. 83 = RRiB013:50 B (RFAKEE)
14:35 278 150. 0 25. 83 E BRige14:35 Bz (GRAERSE)
15:20 278 150. 0 25. 83 E|  {Rige15:20 Bah (RE{EREE)
16:10 278 150.0 25. 83 =l RRiB016:10 Bz (REAKEE)
17:05 278 150. 0 25. 83 E BRige17:05 Bz (GRAERESE)
21t 4448.0 (16)%) 2400. 0 3203 KEC: 2080.0, PH: 5.8

##[EKECE (2400. 0 vs 4570.0) 35




P3-3_0, Day=60 (2025-05-28)

L e e o T e TR e e p st L 3000
VI, VP8RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2685
2300 2300 340
100 - 605 873 2000
50 - 1000
60 40
Warning: lcol [FVI',| "FVO’'] missing
0 -0
_ 200 Y =i —— ME H30
I FRV maxM
T e —————- H -ttt -ttt — e | - 25
- HERIRRARRRINAN .
:%100" iiiii i i il - - | — - - - __20E
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ESO‘ [ ] ) _15
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n
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0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 TargetEC=2600. 0,  TargetSetEC=2080. 0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
0.8 TargetPH=6. 5, TargetSetPH=5. 8 N
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
— Bylnit @63 05:00: ETF2015 Fg=2550. 0 Ro=496.0 t
2 400 - | - 3000
()]
—_ 1
s - +—2—
= : - 2000
= 200 A i
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! L 1000
o |
01 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 0
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2 400 , 3000
%_ ByEt @D60 19:08: ET=2027 Fg=2340.0 Ro=nan I
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é - 2000
3200-
_ - 1000
Ll
b o @
0 D — - 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
S 0 0 00 0 0 0 0 0 M B M
2 400 , 3000
%_ ByWoFv @D63 05:00: ET=1873 Fg=2400.0 Ro=458.0
N 1
= : - 2000
SN
3200-
_ - 1000
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p— S & T |
1.0 — — 0
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0.4 1
0.2 A
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1500 4 —_ A
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cumET (ml/plant)
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P3-3

BflE) | GEBRAK @) | ERE(EH/R | EREE (F/R) [ XS R

07:20 278 150.0 25.83 (Z=| {Ri&@07:20 Bzh (FAERSE)
07:55 278 150. 0 25.83 |Z=| {Ri%e07:55 Bz (REEZEHE)
09:05 278 150.0 25.83 |Z=| {Ri%@09:05 Bz (KREEZEHSE)
09:55 278 150.0 25.83 (Z=| {Ri%@09:55 Bz (FAERSE)
10:30 278 150. 0 25.83 |Z=| {Ri%e10:30 B (REAEZBE)
11:05 278 150. 0 25.83 |Z=| BRige11:05 Bzl (GRAEREE)
11:40 278 150.0 25.83 |Z=| {Ri&e11:40 Bz GGREERSE)
12:10 278 150.0 25.83 |Z=| {Ri&e12:10 Bz (REEZBE)
12:40 278 150.0 25.83 |Z=| {Ri&e12:40 Bz (REEZEBE)
13:10 278 150.0 25. 83 FE| 1BRi&@13:10 Bzh (GRAEREE)
13:45 278 150.0 25. 83 FA| {Ri%@13:45 Bz (CGRAERE)
14:25 278 150.0 25. 83 FA| 1BRi%@14:25 Bzh (RAERSE)
15:10 278 150.0 25.83 (£=| {Rige15:10 B3 (RAEDSE)
15:55 278 150.0 25.83 |Z=| {Ri&e15:55 B (REEZEBE)
16:50 278 150. 0 25.83 |Z=| {Ri&e16:50 Bz (REAEZEBE)
2it] 4170.0 (15)%) 2250. 0 3203 KEC: 2080.0, PH: 5.7

#H[EKRECE (2393.0 vs 4400.0) 35



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-3_0, Day=59 (2025-05-27)

L e e o e e e e o e o B roet L 3000
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2300 340
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390
50 60 - 1000
20 Warning: lcol [FVI',| "FVO’'] missing
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Warning: lcol ["WC1',  "WC2'] missing
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Warning: lcol ['ECB’,| 'ECC’'] missing
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Warning: lcol ['PHB’,| 'PHC’'] missing
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